Script started on Tue 03 Aug 2004 08:29:01 AM EDT
{sitel}tunguyen(1)$ test MDD

Usage: test MOD <EFSMFi | e> <MODFi | e> <TUT>
{sitel}tunguyen(2)$ test MOD ATMm ef sm ATMm nod T9
EFSM i d: ATM System

Number of states: 5

Start state: O

Exit state: 4

Number of transitions: 8

War ni ng: TUT doesn't exist, T9

Nunmber of nodified transitions: 2
Nunmber of added transitions: 1
T9
Nunmber of deleted transitions: 1
T6

Modi fi ed EFSM
Nurmber of states: 5
Start state: O
Exit state: 4
Nurmber of transitions: 9
Label : T9, Internal index: 7
Source state: 2
Destination state: 3
Li st of variables & occurrences: Olype(Def=0, CUse=1, PUse=2)
(Orype, Var, TLabel , OOr der)
(1, b, T9,1)
Nurmber of conponents: 2
Li st of components: AType( | NPUT=0, QUTPUT=1, ASSI G\=2, SET=3, RESET=4, PRED=5, PROC=6)
I ndex, | d, AType, Li st (OType, Var, TLabel , OO der)
0, Bal ance, 0,
1,Display,1,(1,b,T9,1)
Qut -degree of state 2: 4
(Transition index, Destination state)
(4.3)
(6,4)
(7,3)
(8,2)
I n-degree of state 3: 2
(Transition index, Source state)
(4.2)
(7.2)
{sitel}tunguyen(3)$ test MOD ATMm ef sm ATMm nod T6
EFSM i d: ATM System
Nurmber of states: 5
Start state: O
Exit state: 4
Nurmber of transitions: 8
Label : T6, Internal index: 5
Source state: 2
Destination state: 3
Li st of variables & occurrences: Olype(Def=0, CUse=1, PUse=2)
(Orype, Var, TLabel , OOr der)
(0,d, T6, 1)
(1,d, T6,2)
(1, b, T6, 3)



(0, b, T6, 4)
Nunber of conponents: 2
Li st of components: AType( | NPUT=0, QUTPUT=1, ASSI G\=2, SET=3, RESET=4, PRED=5, PROC=6)
I ndex, 1 d, AType, Li st (OTlype, Var, TLabel , OCOr der)
0, Deposi t,0,(0,d, T6, 1)
1, ,2,(1,d,76,2)(1, b, T6,3)(0, b, T6, 4)
Qut -degree of state 2: 3
(Transition index, Destination state)
(4.3)
(5.3)
(7.4)
I n-degree of state 3: 2
(Transition index, Source state)
(4,2)
(5.2)

Nunmber of nodified transitions: 2
Nunmber of added transitions: 1
T9
Nunmber of deleted transitions: 1
T6

Modi fi ed EFSM

Nunmber of states: 5

Start state: O

Exit state: 4

Nunmber of transitions: 9

Warni ng: TUT doesn't exist, T6
{sitel}tunguyen(4)$ test MOD ATMm ef sm ATMn nod T6durmy
EFSM i d: ATM System

Nunmber of states: 5

Start state: O

Exit state: 4

Nunmber of transitions: 8

War ni ng: TUT doesn't exist, Tédumy

Nunmber of nodified transitions: 2
Nunmber of added transitions: 1
T9
Nunmber of deleted transitions: 1
T6

Modi fi ed EFSM

Number of states: 5

Start state: O

Exit state: 4

Number of transitions: 9

Label : T6édummy, Internal index: 8

Source state: 2

Destination state: 2

Li st of variables & occurrences: Olype(Def=0, CUse=1, PUse=2)
(Orype, Var, TLabel , OOr der)
(0,d, T6, 1)

Nurmber of conponents: 1

Li st of components: AType( | NPUT=0, QUTPUT=1, ASSI G\=2, SET=3, RESET=4, PRED=5, PROC=6)
I ndex, | d, AType, Li st (OType, Var, TLabel , OO der)
0, Deposi t,0,(0,d, T6, 1)



Qut -degree of state 2: 4
(Transition index, Destination state)
(4,3)
(6,4)
(7,3)
(8,2)
I n-degree of state 2: 3
(Transition index, Source state)
(3,1)
(5,3)
(8,2)
Tédumy is a dummy of T6 (del eted)
{sitel}tunguyen(5)$ exit

scri pt done on Tue 03 Aug 2004 08:29:58 AM EDT



